Spotlight Test: Corporate Credit Worked Solutions

Question 1

Your company holds a large portfolio of corporate bonds.  The portfolio characteristics have been discussed and approved at Board level so that any major changes are undesirable.  However, the portfolio is less than perfect in that it is overweight in the bonds of one particular company.  This company, Bad Credit PLC, is widely expected to be downgraded.  Your holding of the Bad Credit’s bonds will mature in 4 years.

Which of the following actions could you take to mitigate the impact of a possible downgrading on your portfolio, assuming that the performance of the treasury department is measured by reference to the portfolio return over the longer term?

(a) buy 1 year credit protection at 65bp per annum

(b) buy 4 year credit protection at 85bp per annum

(c) buy 6 year credit protection at 85bp per annum 

(d) do nothing, the effects of a downgrade are already priced in to the cost of credit protection

(e) don’t know

Answer 1

The right answer is (c) buy 6 year credit protection at 85bp per annum

Answer (d) has some merit, but leaves the portfolio open to losses on further deterioration in the credit risk of Bad Credit.  Answers (a), (b) and (c) all limit risk to an extent.  Answer (a) requires further protection to be bought after 1 year, assuming that you still hold the bonds, at whatever rate prevails at the time – clearly a risk.  Answer (b) covers all of the credit risk on the bonds through to maturity and therefore eliminates the credit risk.  However, as your performance is related to portfolio return, answer (c) is superior because, for the same annual premium as the 4 year cover in (b), it leaves open the possibility of closing out the position after 4 years at a profit if there has been a further deterioration in Bad Credit’s credit risk by then.
Question 2

You are treasurer of a company which has recently completed its transition from industrial dinosaur making regular losses to slimmed down, low asset-intensive icon for modern times.

Under the new regime flexibility is ensured by avoiding direct investment and consequent ownership.  Instead, leasing and outsourcing is used when ever it is feasible to do so.

You are particularly keen to monitor your newly recovered creditworthiness as effectively as possible.  Although no one ratio can cover all of the factors involved in credit, which one of the following would be the most effective indication of short-term creditworthiness.

(a) EBITDA (earnings before interest, tax, depreciation and amortisation) / interest payments due in the year

(b) EBITDA (earnings before interest, tax, depreciation and amortisation) / interest and lease payments due in the year

(c) EBITDAL (earnings before interest, tax, depreciation, amortisation and lease rental payment) / interest payments due in the year

(d) EBITDAL (earnings before interest, tax, depreciation, amortisation and lease rental payment) / interest and lease rental payments due in the year

(e) don’t know

Answer 2

The right answer is (d) EBITDAL (earnings before interest, tax, depreciation, amortisation and lease rental payment) / interest and lease rental payments due in the year.

The issue is really about fixed charges.  Your philosophy of using leases rather than direct investment is substituting lease rental payments for interest charges in that you are committing to a lease rather than borrowing for direct investment.  The lease rental is just as much a fixed charge as the interest and could trigger a default in just the same way.

Manual VI Ch 1 and 8, Man VII Ch 3, Man VIII Ch 2.

Standard and Poor’s Corporate Rating Criteria Oct 2004; www.standardandpoors.com  
Question 3

You are treasurer of a capital intensive business.  You make decisions whether to lease or buy assets on purely financial criteria relating to the financial deals offered.  You therefore have a mix of owned and leased assets. 

You are completely confident of your ability to raise debt in the short term, but are concerned that long-term creditworthiness must be monitored continuously.  Which one of the following is the best measure of your long-term creditworthiness?

(a) earnings before interest, tax / interest payments due

(b) earnings before interest, tax and lease rental payments / interest and lease rental payments due

(c) earnings before interest tax depreciation amortisation / interest payment due

(d) earnings before interest tax depreciation amortisation and lease rental payments / interest and lease rental payments due

(e) don’t know

Answer 3

The right answer is (b)  earnings before interest, tax and lease rental payments / interest and lease rental payments due

The issue here is one of capital investment.  In the short term, it is feasible that depreciation is non-cash and can therefore be added back to profit to result in a cash figure available for debt service.  However, in the long term capital investment is not discretionary; if the business is to retain competitiveness then the quality of assets must be maintained and capital expenditure must be incurred.  Thus, again emphasising the long term, depreciation is not available for debt service.  As Warren Buffet is reputed to have commented about the use of EBITDA; “who else is going to cover the firm’s capital expenditure, the tooth fairy?”

Man VII Ch 1 and 3

Question 4

As Finance Director of a large gambling concern your key assets are the casinos, which your group owns and operates, and the licences for their operation.  Your company is widely regarded as being well managed and known to generate results in the top quartile for the industry.

You are thinking about financing an acquisition and are tempted to issue debt in the short term and then refinance with equity when the market is more accommodating.  In order to do that without being forced to the equity market at a difficult time you intend raising medium term debt with repayment rights.  You intend offering your key assets as collateral for the loan.

Which of the following is the appropriate collateral value of the key assets?

(a) properties and licences together at market value as a going concern

(b) alternative use value for the properties plus open market value for the licences

(c) alternative use of the properties alone

(d) book value of the properties and licences

(e) don’t know

Answer 4

The right answer is (c) alternative use of the properties alone.

The key issue here is the scenario under which the collateral might be required, i.e. when the debt cannot be serviced.  Standard and Poor’s refer to collateral values as being meaningful only under the stress scenario that causes the company to default.  Under these circumstances, today’s value of casinos and licences is unlikely to be meaningful and even the value of the licences alone may be doubtful given the possibility of dramatic change in gambling legislation and any potential difficulties with the transfer of ownership of an existing licence.  Given the stress scenario to turn a top quartile company into default, then the only relevant collateral value must be the alternative use of the properties themselves.

Standard and Poor’s Corporate Ratings Criteria  www.standardandpoors.com
Question 5

You are currently borrowing from a small bank in a central European country which has just joined the EU.  You are aware that its systems are not highly sophisticated and, as a result of this, it is using the standardised approach to corporate credit prescribed by Basel II. As you have recently negotiated the loan terms you are aware that the bank expects to generate a return of 20% pre-tax on its capital and you had to concede that the cost of any changes in regulatory capital requirements would be passed on to you

Your group is currently rated at AA- and you suspect that you are likely to be downgraded to A+ in the near future.

What is the likely impact on the cost of borrowing if you are downgraded?

(a) zero

(b) 48 basis points

(c) 30 basis points

(d) 15 basis points

(e) don’t know

Answer 5

The right answer is (b) 48 basis points.

At present, using the standardised approach, the bank has to count 20% of its exposure to your group.  If you borrow €100m then it counts €20m and holds 8% of that amount (i.e. €1.6m) as regulatory capital to satisfy the Basel II Capital Adequacy requirements. If the bank requires a 20% return, then it has to generate 20% of €1.6m i.e.€0.32m, or 32 basis points on the original loan amount.  If your group is downgraded to A+, then the standardised approach requires 50% of the outstanding amount to be counted for capital purposes.  The bank therefore has to hold 8% of €50m = €4m, on which a 20% return would be €0.8m or 80 basis points on the original loan amount.  This is an increase of 48 basis points.

Basel II: International Convergence of Capital Measurement and Capital Standards: a Revised Framework - Part II Para 53 www.bis.org/pub/bcbs107b.pdf 
Question 6

Default rates for investment grade and speculative grade debt is published on a monthly basis by Standard and Poor’s.

Which of the possible answers below gives the default rates for the 12-month period ending October 2004 for investment grade and speculative grade respectively on a global basis?

(a) 0.0%, 2.3%

(b) 0.03%, 1.85%

(c) 1.3%, 4.2%

(d) 2.6%, 5.3%

(e) don’t know

Answer 6

The right answer is (b) 0.03%, 1.85%

Interestingly the US experience is different to that for the EU: the US experienced 0.0% and 2.3% while the EU experienced 0.14% and 1.24%.

S&P Global Bond Markets’ Weakest Links and Monthly Default Rates, Dec 2004 www.standardandpoors.com 

